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Vypotitejte.
3b-b° = b’ - ab® = ct-c-cd=
2x-4x = ab-a’p? = 3u-6u’ =
(+*?)- 32y = b-2b-c= Sxy - (-2xy) =
-3xy-y*= (~2*)-(-2*)= wr-(-u?) =
(-n?)- (-2n) = a5 4a’ = (-n*)-3n=
%a-ax: %x3 6xy = (_3,,).%“3 -
Vynasobte zavorky.
a-(b-2)= (e-1) 2= £b-(a+b)= |
ok (2b4y)= (1w +u)-2u= 3x%y- (1-y) =
2% (x+2) = (2x—3)-y= w? - (u? —»?) = ‘?
2-(5x+2y)= (a-2b)-3= 5¢% - (t-s) = |
9n-(n*—n)= (3u-v)-2u= 3abc - (a-b)=
Vyndsobte zdvorku.
x-(a-b+c)= (P—2¢+r)-3r=
2a-(1-2a+5?)= (62 ~2¢+4) (-2¢%)=
8a-(b-3+c)= (u+v+5)-duv= ;‘
A
xz-(?.x—4x2—6)= (ax+b+c)-x? =
(-a)-(b+1-¢)= (6-x+y) xy= 1
Vyndsobte. Odstraiite zdvorku.
 2w3xxt= Sa-(2a%+5a% - a)=
2ab-b*-a’ = (~u?v) (~5u+4v) =
(~x2)- 2y = (~a?)-(-ab+4b+2)= |
2z-2% 3z= (-3%)-(4a’x-2a-x?)=
(-u)-(-u?)- 2u = “ (-1)-(-52% +32-7) = ‘

~ab -(—2a)-(-2b) = —2-(3a—-6-b)=
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(a+2)-(b+3)=

(m+2u)-(m—u)=

(p+a) (p-r)=

(2-2) (z-3)=

(x-4)-(x-1)=

(m+2)-(m+5)=

Vynésobte a zjednoduste.

(4p-4q)-(2p-4q)=

(3c+2)-(2¢+3)=

(a-B)-(a+b)=

(2x+1) (x+4)=

(2a+3b)-(2a-5b) =

(3m-2)-(2m-1)=

(u—4v)-(v+3u)=

Zjednoduste.

2-(5-1)-3-[b-(2-3b)]=

6x—[2-(x—1)-2-(x+1)]=

2x—[—y+2-(x-—y)—x]=

2z+3-[—2z—3z-(1+z)—'z2]=

2a-4- [—a —(~b+2a)- (—Za)] =
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